
Supporting Figure 3. Descriptive analysis of steroid steroid compounds. A descriptive analysis of the 40 steroid 
compounds measured in urine is shown including one steroid compound per page.

Panel (a): boxplots, steroid (log-scale) by sex; 

Panel (b): Gasser-Müller nonparametric fits and scatter plots, steroid (log-scale) by age and by sex; 

Panels (c) and (d): boxplots, transformed steroid for men and women according to optimal power transformation; outliers are 
plotted as black dots; 

Panels (e) and (f): steroid (log-scale) by day and night time for men and women; 

Panels (g) and (h): Spearman correlation of transformed steroid night vs day. 

Abbreviations used: 

M=men; W=women; D=day; N=night; TR=optimal power transformation; nout=number of outliers; 
sk=skewness; ku=kurtosis; delta=robust estimate of mean difference expressed in standard deviations; rho=Spearman 
correlation coefficient; n=sample size. 
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(h) W : rho= 0.879  n= 378
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(a) M vs W: delta= 0.44  p = 0
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(e) D vs N: delta= 0.68  p = 0
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(f) D vs N: delta= 0.53  p = 0
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(h) W : rho= 0.824  n= 379
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(a) M vs W: delta= 0.01  p = 0.566
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(f) D vs N: delta= 0.04  p = 0.055
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(h) W : rho= 0.677  n= 379
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(e) D vs N: delta= 0.33  p = 0
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(f) D vs N: delta= 0.4  p = 0
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(f) D vs N: delta= 0.77  p = 0
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(b) M: p = 0.007  W: p = 0
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(f) D vs N: delta= 0.5  p = 0
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(f) D vs N: delta= 0.01  p = 0.124
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(b) M: p = 0.002  W: p = 0.606
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(f) D vs N: delta= 1.09  p = 0
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(b) M: p = 0.087  W: p = 0.066
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(c) TR= 0.3  nout= 0  sk= −0.05  ku= −0.1
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(d) TR= 0.4  nout= 0  sk= −0.06  ku= −0.1
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(e) D vs N: delta= 0.08  p = 0
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(f) D vs N: delta= 0.18  p = 0
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(g) M : rho= 0.721  n= 453
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(h) W : rho= 0.756  n= 379




